X= 1211’ 211’ OR 311
.
(N
XJ:I_

20 Ga.

CELL CLOSURE

X= 4", 7", 9", OR 13"

X 23
iy Sy

™~ GAGE AS REQ'D

GIRDER FILLER

X & Y= AS REQ'D

GAGE AS REQ'D

POUR STOP

X, Y, & Z= AS REQ'D

(N
al
Y
—
N
20 Ga.

SIDE CLOSURE

CELL CLOSURE ATTACHMENT
ATTACH ACCESSORY TO DECK AND TO
STEEL SUPPORT USING 1" WELDS OR

#10 SCREWS AT 24" ON CENTER.

GIRDER FILLER ATTACHMENT
ATTACH ACCESSORY TO DECK AND TO
STEEL SUPPORT USING 1” WELDS
AT 24" ON CENTER.

POUR STOP ATTACHMENT
ATTACH ACCESSORY TO STEEL
SUPPORT USING 1" WELDS
AT 12" ON CENTER.

SIDE CLOSURE ATTACHMENT
ATTACH ACCESSORY TO DECK AND TO
STEEL SUPPORT USING 1" WELDS
#10 SCREWS AT 24" ON CENTER.

— FIELD CUT AT DOWN
; RIBS/FLUTES IF
CELL INTERFERENCE WITH
CLOSURE SHEAR STUD POUR SIDE
INSTALLATION OCCURS GIRDER STOP CLOSURE
— FILLER
AISC REQ'S 1" CLEARANCE FOR SHEAR STUD ——
X, Y, & Z= AS REQD X, Y, & Z= AS REQ'D
&
Y;” | 6" OR 127
P

X"
GAGE AS REQD

ZEE CLOSURE

RIDGE/VALLEY PLATE

I

20 Ga.

FLAT PLATE

Z CLOSURE ATTACHMENT
ATTACH ACCESSORY TO DECK AND TO
STEEL SUPPORT USING 17 WELDS OR

#10 SCREWS AT 24" ON CENTER.

CLOSURE

RIDGE & VALLEY PLATE ATTACHMENT

ATTACH ACCESSORY TO DECK AND TO

STEEL SUPPORT USING 17 WELDS OR
#10 SCREWS AT 24" ON CENTER.

E RIDGE & VALLEY

PLATE

FLAT PLATE ATTACHMENT
ATTACH ACCESSORY TO DECK AND TO
STEEL SUPPORT USING 1" WELDS OR

#10 SCREWS AT 24" ON CENTER.

DECK ACCESSORIES

NOTE:
ALL ACCESSORIES PROVIDED IN STOCK
10'-0" LENGTHS AND G60 FINISH

2
2
g3
&
z |<
. g |8
[]
§ 18 8§ |+
EE:.CI,-
égg
Es&g
-4
E):!
o
| I
£
o x
[%}
Q
m) -
[}
<
- &
g)-:
=
g
s g |
5E|E
gﬁg%?
JOB NO:
DRAWING NO:
D3
REV NO:




